1st Grade Word Problems – Trimester 1

1. Keisha had 5 bears. Tomas gave her 4 more bears. How many bears does Keisha have? (Add To – Result Unknown)

2. Keisha had 8 toy bears.  She gave Tomas 2 of her toy bears.  How many bears does Keisha have now? (Taken From – Result Unknown)

3. Keisha has 3 red bears and 4 green bears.  How many bears does Keisha have? (Put Together/Take Apart – Total Unknown)

4. Keisha has 10 bears.  How many are blue and how many are yellow? (Put Together/Take Apart – Both Addends Unknown)

5. Keisha has 2 beds in her room.  Each bed has 4 bears sitting on it. How many bears does she have? (Multiplication)

6. Keisha has 8 bears.  She got 2 bears for her birthday.  How many bears does she have now? (Add To – Result Unknown)

7. Keisha has 5 bears.  Tomas has 4 bears.  How many bears do they have altogether? (Put Together/Take Apart – Total Unknown)

8. Keisha has 7 bears.  They are all either white or brown.  How many do you think are white and how many are brown? (Put Together/Take Apart – Both Addends Unknown)

9. Keisha had 10 toy bears.  She lost 3 of her toy bears. How many toy bears does Keisha have now? (Taken From – Result Unknown)

10. Tomas is taking 9 bears with him to visit his grandma.  If he packs 3 bears in each bag, how many bags will he need? (Division – Measurement)

11. 9 bears were playing in the park.  5 bears left and went home.  How many bears are still in the park? (Taken From – Result Unknown)

12. 4 green bears and 5 yellow bears are playing together in the park. How many bears are playing in the park? (Put Together/Take Apart – Total Unknown)

13. 7 bears were playing in the park. 4 more bears came to the park to play.  How many bears are playing in the park? (Add To – Result Unknown)

14. There are 4 blankets and 12 bears at the teddy bear picnic.  If the bears split themselves evenly onto the blankets, how many bears are sitting on each blanket? (Division – Fair Share)

15. 8 bears are playing in the park.  Some of them are on the swings and the rest are on the slide.  How many are on the swings and how many are on the slide?  (Put Together/Take Apart – Both Addends Unknown)

16. There are 6 bears sleeping in the cave and 4 bears playing in the woods.  How many bears are there in all? (Put Together/Take Apart – Total Unknown)

17. There are 6 bears in the cave.  Suddenly, 4 bears ran out.  How many bears are in the cave now? (Taken From – Result Unknown)

18. There are  5 caves.  Each cave has 2 bears sleeping in it. How many bears are there in all? (Multiplication)

19. There are 8 bears in the woods.  How many are sleeping and how many are playing? (Put Together/Take Apart – Both Addends Unknown)

20. There were 4 bears in the cave.  Suddenly, 3 bears ran into the cave.  How many bears are in the cave now? (Add To – Result Unknown)
21. Dora found 5 leaves that blew in through the window. Then she found 2 more leaves that blew in. How many leaves did Dora find in all? (Add To – Result Unknown)

22. Bella spilled some pencils on the carpet. Geno came over to help her pick them up. Geno found 5 pencils under the desk and Bella found 4 by the door. How many pencils did they find together? (Put Together/Take Apart – Total Unknown)

23. Alex had 9 marbles in his hand. He hid his hands behind his back and put some in one hand and some in the other. How many marbles might be in each hand? (Put Together/Take Apart – Both Addends Unknown)

24. Our class had 4 pumpkins. On Monday, Marta brought 1 more pumpkin. How many pumpkins did our class have?
On Tuesday, Beto brought 1 more pumpkin. How many pumpkins did our class have on Tuesday? 
Then on Wednesday, Shea brought 1 more pumpkin. How many pumpkins did our class have on Wednesday? 
What do you notice about what happened each day? (Problem Solving)

25. 8 ducks are swimming in the pond. 4 ducks fly away. How many ducks are still swimming in the pond? (Taken From – Result Unknown)

26. Marcus had 10 pieces of candy. He decided to give some to his mother and keep some for himself. Use pictures and numbers to show 2 ways that Marcus could have split up 6 pieces of his candy. (Put Together/Take Apart – Both Addends Unknown)
27. Tanya has 2 bags of apples. If each bag has 3 apples, how many apples does she have?
(Multiplication)

28. Tom has 4 red cars and 3 green cars. Dave has 5 red cars and 2 green cars. Dave thinks he has more cars than Tom has. Is Dave right? (Put Together/Take Apart – Total Unknown and Problem Solving)

29. Rayden received 9 stickers at school. He received 5 stickers in the morning. How many stickers did he receive in the afternoon? (Put Together/Take Apart – Addend Unknown)

30. There were 6 children at the sleepover.  2 children got picked up.  How many children stayed? (Taken From – Result Unknown)

31. Kate saw 8 cats playing in the grass. 3 went away to chase a mouse. How many cats remained in the grass? (Taken From – Result Unknown)

32. I bought 6 eggs at the store. 3 of them were cracked. How many eggs did I have that were not cracked? (Put Together/Take Apart – Addend Unknown)

33. There are 5 white flowers and 3 red flowers in the vase.  How many flowers are in the vase? (Put Together/Take Apart – Total Unknown)

34. Jordan uses 3 lemons to make 1 pitcher of lemonade. He makes 4 pitchers. How many lemons does he use altogether?  (Multiplication)

35. Kate and Nana were baking cookies. They made 5 heart-shaped cookies and then made some square cookies. They made 8 cookies altogether. How many square cookies did they make? (Add To – Change Unknown)	

36. Rex found 10 bones on his walk. He can’t decide which part he wants to bring to his doghouse and which part he should bury.  What do you think? How many Rex should bring to his doghouse and how many should he bury? (Put Together/Take Apart – Both Addends Unknown)

37. Caroline, Brian and Marta want to share a box of chocolates so that they each get the same amount.   If there are 12 pieces in the box, how many will each child get? (Division – Fair Share)

38. There are 4 inch-worms on a giant leaf.  3 more inch-worms crawled onto the leaf. How many inchworms are on the leaf? (Add To – Result Unknown)

39. Ben has 4 red balls and gets 5 green balls. How many balls does he have? (Put Together/Take Apart – Total Unknown)

40. I borrowed 7 books from the library. On my way home, I lent some of the books to a friend. There are 5 books still in the backpack. How many books did I lend? (Taken From – Change Unknown)

41. There are 8 children in the afterschool cooking club. How many boys and how many girls might be in the class? (Put Together/Take Apart – Both Addends Unknown)

42. There are 5 toy airplanes flying at the park. 1 went down and broke. How many airplanes are still flying? (Taken From – Result Unknown)

43. Joshua and Rebecca were eating raisins. Joshua had 7 raisins and took 2 more from the box. Rebecca had 9 raisins and took 2 more from the box. Who had a greater number of raisins, Joshua or Rebecca? (Add To – Result Unknown and Problem Solving)

44. There are 7 mango slices. 2 of them were eaten. How many mango slices are left to eat? (Put Together/Take Apart – Addend Unknown)

45. 7 balls are on the soccer field. The coach throws 2 more onto the field. How many balls are on the field now? (Add To – Result Unknown)

46. Hansel and Gretel have a bag with 8 pieces of bread. They drop some on their path and end with 3 pieces remaining.  How many pieces of bread did they drop? (Taken From – Change Unknown)

47. Bill has 2 trucks. His friend, James came over with some more. Together they had 6 trucks. How many trucks did James bring over? (Add To – Change Unknown)	

48. Jim has 4 big dogs and 3 small dogs. How many dogs does Jim have? (Put Together/Take Apart – Total Unknown)

49. Will wants to place 2 oranges in each basket.  If he has 10 oranges, how many baskets will he need? (Division – Measurement)

50. There were 9 kites flying in the park. 3 kites got caught in trees. How many kites were still flying? (Put Together/Take Apart – Addend Unknown)

51. There are 10 beads on the floor. There is the same number of red beads as white beads. A student picks up the white beads. How many beads are still on the floor? (Division – Fair Share and Problem Solving)

52. There are 6 frogs in the pond. 1 more hops over. How many frogs are in the pond now? (Add To – Result Unknown)

53. Jane caught 5 fish before she stopped to eat lunch. After lunch she caught some more. At the end of the day she had caught 9 fish. How many fish did she catch after lunch? (Add To – Change Unknown)	

54. There were 6 hot dogs on the grill. 2 finish cooking and are removed. How many hot dogs remain on the grill? 

55. Liv plays at the park. She plays with 3 girls and 6 boys. How many kids does she play with at the park? (Put Together/Take Apart – Total Unknown)

56. There are 10 beads on the floor. A student picked up some of the beads and left some on the floor. Write a number bond and a number sentence that would match this story. (Put Together/Take Apart – Both Addends Unknown)

57. Emma collects rocks. She arranges them in 4 rows of 3. How many rocks does Emma have? (Multiplication)

58. Toby collects shells. On Monday he finds 6 shells. On Tuesday he finds some more. Toby finds a total of 9 shells. How many shells does Toby find on Tuesday? (Add To – Change Unknown)	

59. Nine children are playing hide and seek. Some went away to hide. 4 children can still be seen.   How many children are hiding? (Taken From – Change Unknown)

60. 6 children are at a sleepover. 4 children are wearing black shoes. The rest are wearing white shoes. How many children are wearing white shoes at the sleepover? (Put Together/Take Apart – Addend Unknown)
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